/* If Fido is a yellow lab, then Fido is a dog. */

dog(Fido) :- yellow_lab (Fido).  
dog(fido) :- yellow_lab (fido).
dog(X) :- yellow_lab (X).  /* would have been clearer */
% If it is Tuesday and it is February, then there is school. 

school :-today(tuesday), today(february).

school :- day(tuesday),  month (february).
school(open) :- today(tuesday), month (february).

% problematic word is “you”

%If Fred is a male and Fred is your parent, then Fred is your father.

father (You, Fred) :-  male(Fred), parent(You, Fred).

father (You,X) :- male (X), parent (You,X).

father(X) :- male(X), parent(X).
%If X is your parent, then X is your father or X is your mother.

%Remember that you can’t have multiple terms as part of the consequent

father(X) :- parent(X).

mother(X) :- parent(X).

%If X is your father or X is your mother, then X is your parent can be written 2 ways

parent(X) :-  father(X); mother(X).

% or

parent(X) :- father(X).

parent(X) :- mother(X).

